Tableaux des Puissances de Dix (E)

Multipliez ou divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (E) Solutions

Multipliez ou divisez le nombre de la rangée par celui de la colonne.

X 0,0001 100 1000 0,1
89 0,0089 8900 89 000 8,9
32 0,0032 3200 32000 3,2
27 0,0027 2700 27 000 2,7
19 0,0019 1900 19 000 1,9
29 0,0029 2900 29 000 2,9
X 0,1 0,01 10 000 1000
71 7,1 0,71 710 000 71000
91 9,1 0,91 910 000 91 000
89 8,9 0,89 890 000 89 000
36 3,6 0,36 360 000 36 000
9 0,9 0,09 90 000 9000
+ 10 000 0,1 100 1000
10 0,001 100 0,1 0,01
73 0,0073 730 0,73 0,073
83 0,0083 830 0,83 0,083
23 0,0023 230 0,23 0,023
55 0,0055 550 0,55 0,055
+ 0,0001 0,001 0,01 0,1
44 440 000 44 000 4 400 440
47 470 000 47 000 4700 470
52 520000 52 000 5200 520
51 510000 51000 5100 510
77 770 000 77 000 7700 770
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